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�# �� ����������� �� �
� �
���
����# �
�	
 ���������� ��������	���
��
���
 ������
��# ��� ��� �� ���� �������'� �
 �
����
8 ���
�� �� $(����
��� ����
����	� �
� ���
���
� ��� ��
	
�'����� �� � ������
���
����� ������ �� ��$���� 5?6# 5336

ᾱk (s) = �
�αk (s)
β̄k (s) = �
�βk (s)
γ̄k (s) = �
�γk (s)
λ̄k (e) = �
�λk (e)

p̄k,i (A; I) = log
pk,i(a = 0; I)
pk,i(a = 1; I)

p̄k,i (A; O) = log
pk,i(a = 0; O)
pk,i(a = 1; O)

πk (a; I) = log pk(a; I) + 	
������

πk (c; I) = log pk(c; I) + 	
������

�� ����� �
 �
� �,�= ���
���
�# �� ��	��'� �
� ��� ��1� p̄k,i(A; I) ��
� �
� 
���� �,�= ��	
���� �� ������
�
 	
����� 
����� ��� ��1� p̄k,i(A; O)� �
�� �
�� �
� a ∈ {0, 1}

log pk,i(a; I) =
1
2
(−1)ap̄k,i(A; I) +

1
2

log(pk,i(0; I)pk,i(1; I)).  <!

�
� ��	
�� ���� �� � 	
������ ������'� �
 a ��� 	�� �� ��	�
��� 
��� 4��	�# �� ��� 	
����� ���� ����� ����
�
�1� ��

πk(a; I) =
��	2M∑

i=1

1
2
(−1)ai p̄k,i(A; I) + 	
������  >!

������
����� �
� α ��� β �������
�� ������

γ̄k(e) = πk(a; I) + πk(c; I)  0!

ᾱk(s) = log
∑

e:t(e)=s∈V
αk−1(i(e))γk(e)

= log
∑

e:t(e)=s∈V
exp (ᾱk−1(i(e)) + γ̄k(e))  ?!

β̄k(s) = log
∑

e:i(e)=s∈V
exp

(
β̄k+1(t(e)) + γ̄k+1(e)

)
 B!



���� � �
∗

max 
)��&!��'

,�����������
� 
� �
� +�D1 ���
���
� �� �
� �
� �
���� ��&����� ��2��� �
� �
� 
� ���� 
� �(�
��������� �
��

���	��
� �� ��$��� �� �
�
∗

max 
������
� 5376E

∗
max (x, y) � �
� (ex + ey)  C!

= ��( (x, y) + �
�
(
1 + e−|x−y|

)
.

,� �� ���
 �
��� �
��
∗

max (x, y, z) = �
� (ex + ey + ez)  *!

=
∗

max
( ∗

max (x, y) , y
)

.

+� ����	
������� log(1 + e−|x−y|) ��� ��
���� �
� ������� �� � �����# �� 
�'� � �
� 	
����(��� ������������
�


�
∗

max �� 
�������� �
�� ������� ��� ��������� �� ��	��
� ?�7�

���� ��%)*�+�( ��%)"!&!��' ��! �&�&**�* �(#�,

�
� �..� ������� 
�� 2������� ��� 2M ����� ��� ����� �� ���� �� -����� 0� �
� �
����� ��� ��	2���� ��	����
��


� �
�� ������� ��&���� ��2��� �
�
∗

max 
� M
2 ������ ����
�� ��	
 2������

∗
max 
������
� ��	��� � ����� 
� 
��

	�
	2 	�	��� � ����	� ������������
� 
� �
� �
��������	2���� ���
���
� �
��� ��&���� � ����� 
� log2 (M/2)
	�	��� "��� �
� �
�

∗
max ��� �� �

� 
��� 

� �
� 	
�������
� ��� �� ���������# ����	��� �
� M/2������

∗
max


������
� �
 � 2������
∗

max 
������
� �
�� ��� �� 	
������ �� 
�� 	�
	2 	�	��� �� 	
������ �
� β̄ ��	����
�#
��� 
�
��� �
��
� �� �
� ���� ������ 53<6�

,� �
� ��
��	� �
����# �� �� ������
��
����� �
 ��� �� �����	���
� 
� �
� ����������'� ���  ��������	���
�
����������
� 
'�� ������
�! ��'�� 	
�������
�� 
� � ������� ���
 �������� �����E

βk(s) =
∑

e:i(e)=s

βk+1(t(e))γk+1(e)

=
∑

e:i(e)=s,t(e)=s

βk+1(s)γk+1(e) +
∑

e:i(e)=s,t(e)=s′ �=s

βk+1(s′)γk+1(e)

=

⎛
⎝βk+1(s)

∑
e:i(e)=s,t(e)=s

γk+1(e)

⎞
⎠ +

⎛
⎝βk+1(s′)

∑
e:i(e)=s,t(e)=s′

γk+1(e)

⎞
⎠

=βk+1(s)γ′
k+1(s, s) + βk+1(s′)γ′

k+1(s, s
′)  3)!

�
��� γ′
k+1(s, s)# � ��� 
'�� �������� �����# �� �������� �
 �� �
� 	
��� ����� �
� �
� ����� ���� (s, s) �� �����

k + 1# �
� ���� 	��	�����
� 	�� �� ���� �
� �
� ����� ���� (s, s′)�
�� 
�'� �� ����
�
�� ������$	���
� �� �
� �
� �
���� '�� �
� ����������'� ���  ������
� ����������'� 
'��

∗
max ! �
�	
 	�� �� ���� �� ��2��� �
�����
�� 
� �
�
 ����� 
�  3)!

β̄k(s) = log
(
exp

(
β̄k+1(s) + γ̄′

k+1(s, s)
)

+ exp
(
β̄k+1(s′) + γ̄′

k+1(s, s
′)
))

=
∗

max s̃∈{s,s′}{β̄k+1(s̃) + γ̄′
k+1(s, s̃)}  33!

�
���

γ̄′
k(s, s′) = log

⎛
⎝ ∑

e:i(e)=s,t(e)=s′
eγ̄k+1(e)

⎞
⎠

=
∗

max e:i(e)=s,t(e)=s′ {γ̄k+1(e)}  37!

���	� �
� γ̄′
k� ��� �
� � ���	��
� 
� � ��	����'��� 	
������ &�������# �
�� ��� �� ����	
������ '�� � ��������

�� ����������� �� -����� ?� ������� λ̄� �
 ��� ��
���������� ��&���� ��2��� �
�
∗

max 
� M ������ ��� �
�� �����	�
	�� �� ����	�� ��������� ����� �
� �������� ������������
��
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branches

s0,k s0,k+1

s1,k+1

γ0

branches

s1,k
stage k + 1

γM

2
−1

M

2

M

2

������ �� � ���'�
 ��
���� ���'
 ���� M
2

������
� 
�'
�
�
��

� ����
����' ����
��

∗

max

∗

max

∗

max

∗

max

∗

max

∗

max

1

2
γ0

γ1

γ2

γ3

γM

2
−1

γM

2
−2

2

M

2
log

������ �� ���
���
�
∗

max �� ��	�
�
 ��
 �
�
� γ,��

���� ����� ����(�'# �*#���! % -*��

�� ���	���� �
� F
� 
� 
�� �
���
���� ��	
���� ���
���
�� �
� ����� 	
�� �� �� �		��������..� ���
 M = 64
�

�� �� -����� B� �
� 
���� 	
�� �� �
� ���� 1/2# 4������ (5, 7) 	
�'
����
��� 	
�� �

�� �� -����� C� �
�
��������'�� 
�� �����
 15120������

3�  ,��%1 �,�=! �
� 	
����� ����
� �
����2���


�� πk(c; I) ��� ����'���� ��
� �
� ��	��'�� �
 �
� ��	
���
'�� �
� 1�	��'�� ,������	� +�
	2� ,� 
�� 	������ ������# 
��� �
� �
� C ����
� ��������	� ��� ����� �
��
����	�� �
� ��
��� 
� ���� �������� ��&����� ��
� �
� ��	��'�� ��� �
� ��
	2 ���
��  +1��! ������
�
� ��
����� �
�� �
� γ 	��	�����
� �� �����# �
� �����������(��  �����(! �� -����� B ����	�� �
� �������
����
�� �����	� ��
� �
� �
����� ���
�� +�
	2 ��� ���� �
� ��������� ����
� �����	� �
 �
� ���� 
� �
�
�
��� ��
�  ����	���� �� $���� ����!� =� ��������A���
�# �
� ��� ��1� p̄k,i(A; I)# ����	���� �� Pk (A) �� -�����
B# ��� ��� �
 A��
� =� ��		����'� �������
��# ��� ��1� p̄k,i(A; I) ��� 
������� ��
� �
� 
���� 	
�� '�� �
�
��������'��� �
� G�	�
� ���� +�
	2 	
������ ���� ����� ����
� ��1� ��

πk(a; I) =
��	2M∑

i=1

1
2
(−1)ai p̄k,i(A; I)

�
� a ∈ {0, 1, . . . , 63}  ������� �
� 	
�����
����� 6���� '�	�
�� a! ��� k = 1, . . . , 2520�

7� �
� γ���
	2 ��2�� �� ����� �
� G�	�
� ���� ��� ��1� ��
� �
� �����������(��  �����(! �
 	
�����

γ̄k(e) = πk(a(e); I) + πk(c(e); I)

�
� e ∈ E ��� k = 1, . . . , 2520� �
��� ��� 128 ����� �� E �

<� �
� β���
	2 ���� �
� γ�� �
� ��	
 ���� �
 	
�����

γ̄′
k(s, s′) =

∗
max e:i(e)=s,t(e)=s′{γ̄k(e)}

�
� ��	
 ���� 
� ������� ��� �������� ������ (s, s′) ∈ {(s0,k−1, s0,k), (s0,k−1, s1,k), (s1,k−1, s0,k), (s1,k−1, s1,k)}
��� ��	
 k = 1, . . . , 2520� �
��� ��� 32������

∗
max 
������
��# ��� ��� �� 	
������ ����� �
� ������γ̄

��������� ���
���
�� �
� β���
	2 �
�� ��������A�� �
� �
� β�� �
 β̄2520(s) = 0 �
� ��� s# ��� ��	����'���
	
������  ��� ��
��� �� +1��!

β̄k(s) =
∗

max
(
β̄k+1(s0,k+1) + γ̄′

k+1(s, s0,k+1), β̄k+1(s1,k+1) + γ̄′
k+1(s, s1,k+1)

)

�
� s ∈ {s0,k, s1,k} ��� k = 1, . . . , 2520� �
��# �
��� ��� 2������
∗

max 
������
���



>� �
� α\λ���
	2 ��������A��

ᾱ0(s) =
{

0, s = s0,0

−∞, s = s1,0
,

�
��
�� �
� ���� ��
	����� �� �
� β���
	2 �
 	��	����� �
� ����� γ̄��# ��� ��	����'��� 	
������

ᾱk(s) =
∗

max (ᾱk−1(s0,k−1) + γ̄′
k(s0,k−1, s), ᾱk−1(s1,k−1) + γ̄′

k(s1,k−1, s))

�
� s ∈ {s0,k, s1,k} ��� k = 1, . . . , 2520� �
� ᾱ�� ��� ���� ����������� �
 �
�� �
� 	������ λ̄�� ��� �
� ��(�
ᾱ��H �
����
��# 
��� ᾱ�� 
� �
� 	������ ����� ��� ��
���� �
� λ̄�� ��� 	��	������ ��

λ̄k(e) = ᾱk−1(i(e)) + γ̄k(e) + β̄k(t(e))

�
� e ∈ E ��� k = 1, . . . , 2520� ,� 
�������# −∞ �� ��
��� �� �
� �
�� ������'� $(��
��� '����# ���  3>!�

0� �
� pk (A)���
	2 ��2�� �
� λ̄�� ��� 	
������

p̄k,i(A; O) =
∗

max e∈EA
0,i
{λ̄k(e)} − ∗

max e∈EA
1,i
{λ̄k(e)} − p̄k,i(A; I)

�
� k = 1, . . . , 2520# i = 0, . . . , 5� �
��� ��� 64������
∗

max 
������
�� ��� ��� 	��	������ ����� �
� ���������
���
���
��

?� �
� p̄k,i(a; O)�� ��� ��
��� �� �
� �����������'�� �� ��&������� 
���� ��� ���� 
�� ��  ��!�������� 
�����

B�  =I�%1 �,�=! �
� ��� ��1� p̄k,i(X ; I) ��
� �
� ����� 	
�� ��� ���� '�� �
� �����������'��� �
� G�	�
�
��� +�
	2 �� -����� C �
�� 	
������ ���� 
����� ����
� �
����2���


��  �1�! ��

πk(x; I) =
2∑

i=1

1
2
(−1)xi p̄k,i(X ; I)

�
� x = 0, 1, 2, 3 ��� k = 1, . . . , 7560� x ����� �
� 4 
������ �
������ ��	
 ����� ��� k �� �
� ����� 	
������

C� �
� �1� ��� ������ �
 �
� γ���
	2
γ̄k(e) = πk(x(e); I)

�
� e ∈ E ��� k = 1, . . . , 7560� �
��� ��� 8 ����� �� E � �
��E πk(u(e); I) = 0 �
� ��� �������
��# 
��	� �
��
�
� ������ �� �
� ������
��

*� �
� β���
	2 ��������A��

β̄7560(s) =
{

0, s = s0,7560

−∞, s = sj,7560, j = 1, 2, 3

��� ��	����'��� 	
������

β̄k(s) =
∗

max e:i(e)=s{β̄k+1(t(e)) + γ̄k+1(e)}
�
� s ∈ {s0,k, s1,k, s2,k, s3,k} ��� k = 1, . . . , 7560� �
��� ��� 2������

∗
max 
������
���

3)� �
� α\λ ��
	2 ��������A��

ᾱ0(s) =
{

0, s = s0,0

−∞, s = sj,0, j = 1, 2, 3

��� ��	����'��� 	
������

ᾱk(s) =
∗

max e:t(e)=s{ᾱk−1(i(e)) + γ̄k(e)}
�
� s ∈ {s0,k, s1,k, s2,k, s3,k} ��� k = 1, . . . , 7560� �
��� ��� 2������

∗
max 
������
��� �
��� ᾱ�� ��� �
��

���� �
 �
��
λ̄k(e) = ᾱk−1(i(e)) + γ̄k(e) + β̄k(t(e))

�
� e ∈ E ��� k = 1, . . . , 7560� ����� −∞ �� ��
��� �� 
������� �� �
� �
�� ������'� $(��
��� '����# ���
 3>!



Bit Likelihood Ratios�
(from Interleaver)�

one stage at a time�

6 x 8 = 48 bits wide�

# ratios�
per stage�

# bits per�
ratio�

Compute Vector Sums�
 (one stage at a time)�

P�k�(A)�
1/2�

(right shift 1�
bit ?)�

P�k�(A)�0�

P�k�(A)�1�

P�k�(A)�5�

+�

-�

P�k�(A)�0�
1�
2�

1�
2�

1�
2�P�k�(A)�5�

8�

8�

8�

Compute Gammas�
 (one stage at a time)�

k�(A)�0�

k�(A)�63�

k�(A)�1�

CHAN.�
MEM�

BLOCK�

Channel Symbols�
 + Indices�

Channel Symbols�
and Indices�

(from receiver)�

8 x [6+6] = 96 bits wide�

8 x 6 = 48 bits wide�

96 x 2520 = 15 BRAMs�

use Xilinx�
BRAM�

# channel�
symbols�
per stage�

# chan.�
symbol�
bit width�

indices�
bit width�

Indices�

constant (filler data)�

k�(C)� k�(C)�

k�(C)�0�

k�(C)�1�

k�(C)�63�

k�(e)�0�

k�(e)�1�

k�(e)�127�

Compute Betas�
 (one stage at a time)�

+�

+�

MEM�
BLOCK�

Betas�

use Xilinx�
BRAM�

 �k�(s)�B�
 �k�(s)�B�

Piped�
Max�
Star�

2 Betas for each stage�
(each 8 bits wide)� 2520 x 2 x 8 =�

4 BRAM�

Compute Alphas and�
Lambdas�

 (one stage at a time)�
 �k�(s)�B�

 �k�(s)�B�

k�(e)�0�

register�
(temp alpha storage)�

+�

stores full codeword�
 worth of Betas�

cl
k�

ct
rl�

   
   

 (
fr

om
 S

M
)�

cl
k�

rd
_c

tr
l�

 (
fr

om
 S

M
)�

Compute P�k�(A;O)�
 (one stage at a time)�

-�

2 input�
Max�
Star�

P�k�(U)�

k�(e)�1�

k�(e)�127�

k�(e)�127�

Pk(A;O)�0�

Pk(A;O)�1�

Pk(A;O)�2�

Pk(A;O)�3�

Pk(A;O)�4�

Pk(A;O)�5�

Pk(A,O)_valid�

Inner Code�
State Machine�

Block�

control signals to Channel symbo, Beta,�
Alpha/Lambda and Pk(A) blocks.�
(address counter increment, clear, etc)�

DEMUX�

Gammas are re-computed for�
Lambda/Alpha calculations.�

(Controlled via state machine)�

SISO INNER CODE BLOCK DIAGRAM�

 + Ind.�k�(C)�

Receiver�
Interface�

Block�Write Control�
(from receiver)�

intlvr_rd�
(to interleaver)�

wr_ctrl�

start and run state machine when a new codeword has�
been received and Pk(A) data is available from the�
interleaver (intlvr_rdy).  State machine willl continue to�
iterate until the stop signal asserts.�

new_codeword�

k�(e)�0�

interleaver_rdy�
from interleaver�

372 LUTs�
required�MEM�

BLOCK�

use Xilinx�
Dist. RAM�

LUT�

from Stopping�
Rule Block�

stop�

super_gammas (re-computed)� (4) super_gammas, each 17 bits wide�

Piped�
Max�
Star�

intlvr_clr�
(to interleaver)�

stop_clr�
(to stopping rule block)�

(de_intlvr_wr)�

_rdy and _done signals�
(from Beta  and Pk(A) Blocks)�

MEM�
BLOCK�

use Xilinx�
Dist. RAM�

LUT�

for Max Star�
Functions�

MEM�
BLOCK�

use Xilinx�
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